# Fibonacci optimization and its related field — duality — (II)

Seiichi Iwamoto Professor emeritus, Kyushu University

Yutaka Kimura Department of Management Science and Engineering Faculty of Systems Science and Technology Akita Prefectural University

#### Abstract

We consider a 2n-variable parametric minimization problem, where a parameter  $\lambda > 0$ . Then it holds that the parametric minimization problem derives two problems, which are  $\lambda$ -parametric minimization problem (primal) and  $\lambda$ -parametric maximization problem (dual). Both the optimal solutions are expressed in terms of *Gibonacci* sequence, which is a parametric generalization of the *Fibonacci* one. Either solution is characterized by the backward Gibonacci sequence and its complementary – *Hibonacci* sequence –. In particular, when a parameter  $\lambda = 1$ , we show that Gibonacci sequence and Hibonacci sequence are represented by *Fibonacci* number. Moreover, for  $\lambda = 4$ , both the sequences are represented by *Sibonacci* number.

#### 1 Introduction

Recently, in [23,24], Iwamoto and Kimura show that a parametric linear system of equations plays a fundamental part in establishing a mutual relation between minimization problem (primal) and maximization problem (dual). The system is of 2*n*-equation on 2*n*-variable, called zero-minimum condition. It yields a couple of second-order finite (*n*-) linear difference equations on *n*-variable, which constitute the respective optimal conditions. The respective equations have a minimum solution for primal and a maximum one for dual. Both the optimal solutions are expressed in terms of Gibonacci sequence, which is a parametric generalization of the Fibonacci one. Either solution is characterized by the backward Gibonacci sequence and its complementary – Hibonacci sequence –.

As a historical background, see (i) Bellman and others [1–7, 28], [9, 11, 30, 31] for dynamic optimization, (ii) Iwamoto, Kimura, Fujita and Kira [12–22, 25–27] for complementary duality, and (iii) [8, 10, 29, 32] for Fibonacci number.

In this paper, we consider a 2n-variable parametric minimization problem (Q), where a parameter  $\lambda > 0$ . Then it holds that the problem derives two problems, which are  $\lambda$ -parametric minimization problem (primal) and  $\lambda$ -parametric maximization problem (dual). In the case of  $\lambda = 1$ , we show that both Gibonacci and Hibonacci sequences are represented by *Fibonacci* number. Thus it turns out that the optimal solutions of the primal and dual are represented by Fibonacci number. Moreover, in the case of  $\lambda = 4$ , both the sequences are represented by *Sibonacci* number. Similarly the optimal solutions are represented by Sibonacci number.

Section 2 gives a 2*n*-variable parametric minimization problem, where a parameter  $\lambda$  ranges over  $(0, \infty)$ . The objective function turns out to be nonnegative. It attains zero iff a linear system of 2*n*-equations on 2*n*-variables has a solution. Section 3 presents a pair of  $\lambda$ -parametric minimization problem and  $\lambda$ -parametric maximization problem for  $\lambda = 1$ . In Section 4, we discuss  $\lambda$ -parametric optimization problems for  $\lambda = 4$ .

## 2 Complementary approach

Let  $c \in \mathbb{R}^1$  be a given constant. The first minimization problem has a fixed initial state  $x_0 = c$ :

minimize 
$$-2\lambda x_0 \mu_1 + \sum_{k=1}^{n-1} \left[ (x_{k-1} - x_k)^2 + x_k^2 + \lambda^2 \mu_k^2 + (\mu_k - \mu_{k+1})^2 + 2(\lambda - 1)x_k(\mu_k - \mu_{k+1}) \right] + (x_{n-1} - x_n)^2 + x_n^2 + (\lambda^2 + 1)\mu_n^2 + 2(\lambda - 1)x_n\mu_n$$

subject to (i)  $x \in \mathbb{R}^n$ ,  $x_0 = c$ , (ii)  $\mu \in \mathbb{R}^n$ .

Let us define the objective function by  $h: \mathbb{R}^n \times \mathbb{R}^n \to \mathbb{R}^1$ 

$$h(x,\mu) = -2\lambda c\mu_1 + \sum_{k=1}^{n-1} \left[ (x_{k-1} - x_k)^2 + x_k^2 + \lambda^2 \mu_k^2 + (\mu_k - \mu_{k+1})^2 + 2(\lambda - 1)x_k(\mu_k - \mu_{k+1}) \right] + (x_{n-1} - x_n)^2 + x_n^2 + (\lambda^2 + 1)\mu_n^2 + 2(\lambda - 1)x_n\mu_n.$$

We have an *evaluation* as follows.

**Lemma 1** [23,24] Let  $(x, \mu)$  be feasible. Then it holds that

$$h(x,\mu) \ge 0. \tag{1}$$

The sign of equality holds iff

$$c - x_1 = \lambda \mu_1, \quad x_1 = \mu_1 - \mu_2$$
(Zm)  $x_{k-1} - x_k = \lambda \mu_k, \quad x_k = \mu_k - \mu_{k+1} \quad 2 \le k \le n-1$ 
 $x_{n-1} - x_n = \lambda \mu_n, \quad x_n = \mu_n$ 

holds.

Q

This is a linear system of 2n-equation on 2n-variable  $(x, \mu)$ . We call (Zm) a zero-minimum condition.

#### Lemma 2 [23,24] Let

$$\gamma := 2 + \lambda, \quad \xi := 1 + \lambda \quad (\lambda \neq 0).$$

Then the zero-minimum condition (Zm) yields a pair of linear systems of n-equation on *n*-variable:

Case n = 1

(EQ) 
$$c = \xi x_1 \quad c = \xi \mu_1.$$

Case n = 2

(EQ) 
$$c = \gamma x_1 - x_2$$
  $c = \xi \mu_1 - \mu_2$   
 $x_1 = \xi x_2$   $\mu_1 = \gamma \mu_2.$ 

Case  $n \geq 3$ 

(EQ) 
$$c = \gamma x_1 - x_2 \qquad c = \xi \mu_1 - \mu_2$$
$$(EQ) \qquad x_{k-1} = \gamma x_k - x_{k+1} \qquad \mu_{k-1} = \gamma \mu_k - \mu_{k+1} \qquad 2 \le k \le n-1$$
$$x_{n-1} = \xi x_n \qquad \mu_{n-1} = \gamma \mu_n.$$

Conversely the pair (EQ) yields (Zm) under the condition that either system has a unique solution. This condition is assured by the nonsingularity of the relevant  $n \times n$  martices  $A_n$ ,  $B_n$  i.e., <sup>1</sup>

 $|A_n| \neq 0, \ |B_n| \neq 0.$ 

The pair (EQ) is divided into two linear systems:

$$c = x_0$$
(EQ<sub>x</sub>)  $x_{k-1} = \gamma x_k - x_{k+1}$   $1 \le k \le n-1$ 

$$x_{n-1} = \xi x_n$$

and

$$c = \xi \mu_1 - \mu_2$$

$$(EQ_{\mu}) \qquad \mu_{k-1} = \gamma \mu_k - \mu_{k+1} \qquad 2 \le k \le n-1$$

$$\mu_{n-1} = \gamma \mu_n$$

<sup>1</sup>It holds that  $|A_n| = |B_n|$ .

# 3 Case $\lambda = 1$

Now we consider a series of individual minimization problems by letting the parameter  $\lambda$  vary on the positive half-line  $(0, \infty)$ .

First we consider the Case  $\lambda = 1$ . Then  $\gamma := 2 + \lambda$ ,  $\xi := 1 + \lambda$  yields

$$\gamma = 3, \ \xi = 2.$$

We consider

minimize 
$$-2x_0\mu_1 + \sum_{k=1}^{n-1} \left[ (x_{k-1} - x_k)^2 + x_k^2 + \mu_k^2 + (\mu_k - \mu_{k+1})^2 \right]$$
  
Q<sub>1</sub>  $+ (x_{n-1} - x_n)^2 + x_n^2 + 2\mu_n^2$   
subject to (i)  $x \in \mathbb{R}^n$ ,  $x_0 = c$ , (ii)  $\mu \in \mathbb{R}^n$ .

Now we define the objective function  $h: R^n \times R^n \to R^1$  by

$$h(x,\mu) = -2c\mu_1 + \sum_{k=1}^{n-1} \left[ (x_{k-1} - x_k)^2 + x_k^2 + \mu_k^2 + (\mu_k - \mu_{k+1})^2 \right] + (x_{n-1} - x_n)^2 + x_n^2 + 2\mu_n^2.$$

**Corollary 1** Let  $(x, \mu)$  be feasible. Then it holds that

$$h(x,\mu) \ge 0. \tag{2}$$

The sign of equality holds iff a zero-minimum condition

$$c - x_{1} = \mu_{1}, \quad x_{1} = \mu_{1} - \mu_{2}$$
(Zm<sub>1</sub>) 
$$x_{k-1} - x_{k} = \mu_{k}, \quad x_{k} = \mu_{k} - \mu_{k+1} \quad 2 \le k \le n - 1$$

$$x_{n-1} - x_{n} = \mu_{n}, \quad x_{n} = \mu_{n}$$

holds.

**Corollary 2** The zero-minimum condition  $(Zm_1)$  has a unique solution  $(x, \mu)$ ;

$$x = (x_1, x_2, \dots, x_k, \dots, x_{n-1}, x_n)$$
  
=  $\frac{c}{H_n} (H_{n-1}, H_{n-2}, \dots, H_{n-k}, \dots, H_1, H_0),$  (3)  
 $\mu = (\mu_1, \mu_2, \dots, \mu_k, \dots, \mu_{n-1}, \mu_n)$   
=  $\frac{c}{H_n} (G_n, G_{n-1}, \dots, G_{n+1-k}, \dots, G_2, G_1),$  (4)

where  $\{G_n\}$  is called two-step Gibonacci sequence and the sequence  $\{H_n\}$  is called Hibonacci (see [23, 24]):

$$G_n = \frac{\beta^n - \alpha^n}{\beta - \alpha}, \quad H_n = 2G_n - G_{n-1},$$
  
 $\alpha = \frac{3 - \sqrt{5}}{2}, \quad \beta = \frac{3 + \sqrt{5}}{2}.$ 

Hence  $Q_1$  attains the zero minimum at  $(x, \mu)$ .

We remark that the Golden number

$$\phi = \frac{1+\sqrt{5}}{2} \sim 1.618$$

and its conjugate

$$\overline{\phi} := 1 - \phi = -\phi^{-1} = \frac{1 - \sqrt{5}}{2} \sim -0.382$$

are the solutions to the quadratic equation

$$t^2 - t - 1 = 0.$$

It holds that

$$\alpha = \frac{3 - \sqrt{5}}{2} = \overline{\phi}^2 = \phi^{-2}, \quad \beta = \frac{3 + \sqrt{5}}{2} = \phi^2$$

$$G_n = \frac{\beta^n - \alpha^n}{\beta - \alpha} = \frac{\phi^{2n} - \overline{\phi}^{2n}}{\phi - \overline{\phi}} = F_{2n}$$

$$H_n = 2G_n - G_{n-1} = 2F_{2n} - F_{2n-2} = F_{2n+1}.$$
(5)

Thus both  $G_n$  and  $H_n$  are Fibonacci:

$$G_n = F_{2n}, \quad H_n = F_{2n+1}.$$
 (6)

**Corollary 3** The zero-minimum condition  $(Zm_1)$  has a unique solution  $(x, \mu)$ ;

$$x = (x_1, x_2, \dots, x_k, \dots, x_{n-1}, x_n)$$
  
=  $\frac{c}{F_{2n+1}}(F_{2n-1}, F_{2n-3}, \dots, F_{2n+1-2k}, \dots, F_3, F_1),$  (7)

$$\mu = (\mu_1, \ \mu_2, \ \dots, \ \mu_k, \ \dots, \ \mu_{n-1}, \ \mu_n)$$
  
=  $\frac{c}{F_{2n+1}}(F_{2n}, \ F_{2n-2}, \ \dots, F_{2n+2-2k}, \ \dots, \ F_4, \ F_2).$  (8)

Hence  $Q_1$  attains the zero minimum at  $(x, \mu)$ .

Corollary 4 It holds that

(i) 
$$h(x,\mu) \ge 0 \quad \forall (x,\mu) \in \mathbb{R}^n \times \mathbb{R}^n$$
  
(ii)  $h(x,\mu) = 0 \iff (x,\mu) \text{ satisfies (EQ}_1).$ 

The objective function

$$h(x,\mu) = -2c\mu_1 + \sum_{k=1}^{n-1} \left[ (x_{k-1} - x_k)^2 + x_k^2 + \mu_k^2 + (\mu_k - \mu_{k+1})^2 \right] + (x_{n-1} - x_n)^2 + x_n^2 + 2\mu_n^2$$

attains the zero-minimum. Further we have a *triple zero property* as follows. Corollary 5 Let a feasible  $(x, \mu)$  satisfy  $(\text{Zm}_1)$ . Then it holds that

$$h(x,\mu) = -c(c-x_1) + \sum_{k=1}^{n} \left[ (x_{k-1} - x_k)^2 + x_k^2 \right]$$
  
(tZ<sub>1</sub>)
$$= -c\mu_1 + \sum_{k=1}^{n-1} \left[ \mu_k^2 + (\mu_k - \mu_{k+1})^2 \right] + 2\mu_n^2$$
$$= 0.$$

 $that \ is$ 

$$h(x,\mu) = -F_{2n+1}(F_{2n+1} - F_{2n-1}) + \sum_{k=1}^{n} \left[ (F_{2n-2k+3} - F_{2n-2k+1})^2 + F_{2n-2k+1}^2 \right]$$
  
(tZ<sub>1</sub>)  
$$= -F_{2n+1}F_{2n} + \sum_{k=1}^{n-1} \left[ F_{2n-2k+2}^2 + (F_{2n-2k+2} - F_{2n-2k})^2 \right] + 2F_2^2$$
  
$$= 0.$$

This yields a pair of quadratic equalities for the Fibonacci sequence  $\{F_n\}$ . Corollary 6 It holds that

$$\sum_{k=0}^{n-1} \left[ F_{2k+1}^2 + (F_{2k+3} - F_{2k+1})^2 \right] = (F_{2n+1} - F_{2n-1})F_{2n+1},$$

$$\sum_{k=0}^{n-1} \left[ (F_{2k+2} - F_{2k})^2 + F_{2k+2}^2 \right] = F_{2n}F_{2n+1}.$$
(9)

*Proof.* It suffices to note that

$$F_{2k+3} - F_{2k+1} = F_{2k+2}, \quad F_{2k+2} - F_{2k} = F_{2k+1}.$$

$$\sum_{k=1}^{n-1} \left( F_{2k-1}^2 + F_{2k}^2 \right) = F_{2n} F_{2n+1}$$

that is

$$\sum_{k=1}^{2n} F_k^2 = F_{2n} F_{2n+1}.$$
 (10)

This is what we called Lucas formula [13, 29].

#### 3.1 Fibonacci Duality

First we consider

P<sub>1</sub> minimize 
$$\sum_{k=1}^{n} \left[ (x_{k-1} - x_k)^2 + x_k^2 \right]$$
  
subject to (i)  $x \in \mathbb{R}^n, x_0 = c$ 

and

Maximize 
$$2c\mu_1 - \sum_{k=1}^{n-1} \left[\mu_k^2 + (\mu_k - \mu_{k+1})^2\right] - 2\mu_n^2$$
  
D<sub>1</sub> subject to (i)  $\mu \in \mathbb{R}^n$ .

Then both  $\mathrm{P}_1$  and  $\mathrm{D}_1$  are dual to each other. An equality condition is

(EC<sub>1</sub>) 
$$c - x_1 = \mu_1$$
  $x_1 = \mu_1 - \mu_2$   
(EC<sub>1</sub>)  $x_{k-1} - x_k = \mu_k$   $x_k = \mu_k - \mu_{k+1}$   $k = 2, 3, ..., n - 1$   
 $x_{n-1} - x_n = \mu_n$   $x_n = \mu_n$ .

The primal P<sub>1</sub> attains a minimum  $m = \frac{F_{2n}}{F_{2n+1}}c^2$  at  $x = (x_1, x_2, \dots, x_n)$ , while the dual D<sub>1</sub> does a maximum  $M = \frac{F_{2n}}{F_{2n+1}}c^2$  at  $\mu = (\mu_1, \mu_2, \dots, \mu_n)$ :

$$x_{k} = c \frac{F_{2n+1-2k}}{F_{2n+1}}$$

$$\mu_{k} = c \frac{F_{2n+2-2k}}{F_{2n+1}}$$
(11)

that is

$$x = (x_1, x_2, \dots, x_k, \dots, x_n) = \frac{c}{F_{2n+1}} (F_{2n-1}, F_{2n-3}, \dots, F_{2n+1-2k}, \dots, F_1)$$

$$\mu = (\mu_1, \mu_2, \dots, \mu_k, \dots, \mu_n) = \frac{c}{F_{2n+1}} (F_{2n}, F_{2n-2}, \dots, F_{2n+2-2k}, \dots, F_2).$$
(12)

# 4 Case $\lambda = 4$

Let us consider the Case  $\lambda = 4$ . Then  $\gamma := 2 + \lambda$ ,  $\xi := 1 + \lambda$  yields

$$\gamma = 6, \ \xi = 5.$$

We consider

minimize 
$$-8x_0\mu_1 + \sum_{k=1}^{n-1} \left[ (x_{k-1} - x_k)^2 + x_k^2 + 16\mu_k^2 + (\mu_k - \mu_{k+1})^2 + 6x_k(\mu_k - \mu_{k+1}) \right] + (x_{n-1} - x_n)^2 + x_n^2 + 17\mu_n^2 + 6x_n\mu_n$$

 $Q_4$ 

subject to (i)  $x \in \mathbb{R}^n$ ,  $x_0 = c$ , (ii)  $\mu \in \mathbb{R}^n$ .

This objective function is denoted by  $h(x, \mu)$ .

**Corollary 7** Let  $(x, \mu)$  be feasible. Then it holds that

$$h(x,\mu) \ge 0. \tag{13}$$

The sign of equality holds iff a zero-minimum condition

$$c - x_1 = 4\mu_1, \quad x_1 = \mu_1 - \mu_2$$
(Zm<sub>4</sub>) 
$$x_{k-1} - x_k = 4\mu_k, \quad x_k = \mu_k - \mu_{k+1} \quad 2 \le k \le n-1$$

$$x_{n-1} - x_n = 4\mu_n, \quad x_n = \mu_n$$

holds.

**Corollary 8** The zero-minimum condition  $(Zm_4)$  has a unique solution  $(x, \mu)$ ;

$$x = (x_1, x_2, \dots, x_k, \dots, x_{n-1}, x_n)$$
  
=  $\frac{c}{H_n}(H_{n-1}, H_{n-2}, \dots, H_{n-k}, \dots, H_1, H_0),$  (14)  
 $\mu = (\mu_1, \mu_2, \dots, \mu_k, \dots, \mu_{n-1}, \mu_n)$   
=  $\frac{c}{H_n}(G_n, G_{n-1}, \dots, G_{n+1-k}, \dots, G_2, G_1)$  (15)

where

$$G_n = \frac{\beta^n - \alpha^n}{\beta - \alpha}, \quad H_n = 5G_n - G_{n-1},$$
  
 $\alpha = 3 - 2\sqrt{2}, \quad \beta = 3 + 2\sqrt{2}.$ 

Hence  $Q_4$  attains the zero minimum at  $(x, \mu)$ .

We remark that the *Silver number* 

$$\tau = 1 + \sqrt{2} \sim 2.414$$

and its conjugate

$$\overline{\tau} := 2 - \tau = -\tau^{-1} = 1 - \sqrt{2} \sim -0.414$$

are the solutions to the quadratic equation

$$t^2 - 2t - 1 = 0.$$

The Sibonacci sequence  $\{S_n\}$  is defined as the solution to the second-order linear difference equation

$$x_{n+2} - 2x_{n+1} - x_n = 0 \quad x_1 = 1, \ x_0 = 0.$$

Hence it satisfies

$$S_{n+1} = 2S_n + S_{n-1} \quad S_1 = 1, \ S_0 = 0$$

It holds that

$$\alpha = 3 - 2\sqrt{2} = \overline{\tau}^2 = \tau^{-2}, \quad \beta = 3 + 2\sqrt{2} = \tau^2$$

$$G_n = \frac{\beta^n - \alpha^n}{\beta - \alpha} = \frac{\tau^{2n} - \overline{\tau}^{2n}}{2(\tau - \overline{\tau})} = \frac{S_{2n}}{2}$$
(16)

$$H_n = 5G_n - G_{n-1} = \frac{1}{2}(5S_{2n} - S_{2n-2}) = 2S_{2n} + S_{2n-1} = S_{2n+1}.$$

Thus both  $G_n$  and  $H_n$  are Sibonacci:

$$G_n = \frac{S_{2n}}{2}, \quad H_n = S_{2n+1}.$$
 (17)

Corollary 9 It holds that

(i) 
$$h(x,\mu) \ge 0 \quad \forall (x,\mu) \in \mathbb{R}^n \times \mathbb{R}^n$$
  
(ii)  $h(x,\mu) = 0 \iff (x,\mu) \text{ satisfies (EQ_4)}$ 

224

The objective function  $h(x, \mu)$  attains the zero-minimum. Further we have a *triple zero property* as follows.

**Corollary 10** Let a feasible  $(x, \mu)$  satisfy  $(Zm_4)$ . Then it holds that

$$h(x,\mu) = -c(c-x_1) + \sum_{k=1}^{n} \left[ (x_{k-1} - x_k)^2 + 4x_k^2 \right]$$
  
(tZ<sub>4</sub>)
$$= -c\mu_1 + \sum_{k=1}^{n-1} \left[ 4\mu_k^2 + (\mu_k - \mu_{k+1})^2 \right] + 5\mu_n^2$$
$$= 0.$$

Hence we have

$$h(x,\mu)$$

$$= -H_n(H_n - H_{n-1}) + \sum_{k=1}^n \left[ (H_{n+1-k} - H_{n-k})^2 + 4H_{n-k}^2 \right]$$

$$(tZ_4)$$

$$= -H_nG_n + \sum_{k=1}^{n-1} \left[ 4G_{n+1-k}^2 + (G_{n+1-k} - G_{n-k})^2 \right] + 5G_1^2$$

$$= 0.$$

This yields a pair of quadratic equalities for the Gibonacci and Hibonacci sequences  $\{G_n\}, \{H_n\}.$ 

#### Corollary 11 It holds that

$$\sum_{k=0}^{n-1} \left[ 4H_k^2 + (H_{k+1} - H_k)^2 \right] = H_n(H_n - H_{n-1}),$$

$$\sum_{k=0}^{n-1} \left[ (G_{k+1} - G_k)^2 + 4G_{k+1}^2 \right] = H_n G_n.$$
(18)

The pair is reduced to

$$\sum_{k=0}^{n-1} \left[ 4S_{2k+1}^2 + (S_{2k+3} - S_{2k+1})^2 \right] = S_{2n+1}(S_{2n+1} - S_{2n-1}),$$

$$\sum_{k=0}^{n-1} \left[ (S_{2k+2} - S_{2k})^2 + 4S_{2k+2}^2 \right] = S_{2n}(S_{2n+2} - S_{2n}).$$
(19)

Thus we have an equality on quadratic sum for  $\{S_n\}$ 

$$\sum_{k=1}^{2n} S_k^2 = \frac{1}{2} S_{2n} S_{2n+1}.$$
 (20)

This is  $\underline{\lambda} = 4$  (Sibonacci)-version of Lucas formula [13, 29], which is  $\underline{\lambda} = 1$  (Fibonacci)-version.

#### 4.1 Sibonacci Duality

Second we consider a pair The *dual-pair* (a pair which is dual to each other) is

P<sub>2</sub> minimize 
$$\sum_{k=1}^{n} \left[ (x_{k-1} - x_k)^2 + 4x_k^2 \right]$$
  
subject to (i)  $x \in \mathbb{R}^n, x_0 = c$ 

$$\begin{array}{ll} \text{Maximize} & 8c\mu_1 - \sum_{k=1}^{n-1} \left[ 16\mu_k^2 + 4(\mu_k - \mu_{k+1})^2 \right] - 20\mu_n^2 \\ \text{D}_2 & \text{subject to} & (\text{i}) \quad \mu \in R^n. \end{array}$$

Then both  $P_2$  and  $D_2$  are dual to each other. An equality condition is

(EC<sub>4</sub>) 
$$c - x_1 = 4\mu_1 \qquad x_1 = \mu_1 - \mu_2$$
$$(EC_4) \qquad x_{k-1} - x_k = 4\mu_k \qquad x_k = \mu_k - \mu_{k+1} \quad k = 2, 3, \dots, n-1$$
$$x_{n-1} - x_n = 4\mu_n \qquad x_n = \mu_n.$$

The primal P<sub>2</sub> attains a minimum  $m = \left(1 - \frac{H_{n-1}}{H_n}\right)c^2$  at  $x = (x_1, x_2, \dots, x_n)$ , while the dual D<sub>2</sub> does a maximum  $M = 4\frac{G_n}{H_n}c^2$  at  $\mu = (\mu_1, \mu_2, \dots, \mu_n)$ :

$$x_k = c \frac{H_{n-k}}{H_n}, \quad \mu_k = c \frac{G_{n+1-k}}{H_n}$$
 (21)

that is

$$x = (x_1, x_2, \dots, x_k, \dots, x_n) = \frac{c}{H_n} (H_{n-1}, H_{n-2}, \dots, H_{n-k}, \dots, H_0)$$
  

$$\mu = (\mu_1, \mu_2, \dots, \mu_k, \dots, \mu_n) = \frac{c}{H_n} (G_n, G_{n-1}, \dots, G_{n+1-k}, \dots, G_1)$$
(22)

where

$$G_n = \frac{\beta^n - \alpha^n}{\beta - \alpha}, \quad H_n = 5G_n - G_{n-1}$$
$$\alpha = 3 - 2\sqrt{2}, \quad \beta = 3 + 2\sqrt{2}.$$

Then

$$4G_n = H_n - H_{n-1}, \quad H_0 = G_1 = 1.$$
(23)

Hence the the optimum point  $(x, \mu)$  satisfies (EC<sub>1</sub>) and the optimum values are same m = M.

We note that both  $G_n$  and  $H_n$  are Sibonacci:

$$G_n = \frac{S_{2n}}{2}, \ H_n = S_{2n+1}.$$

### References

- E.F. Beckenbach and R.E. Bellman, Inequalities, Springer-Verlag, Ergebnisse 30, 1961.
- [2] R.E. Bellman, Dynamic Programming, Princeton Univ. Press, NJ, 1957.
- [3] \_\_\_\_\_, Introduction to the Mathematical Theory of Control Processes, Vol.I, Linear Equations and Quadratic Criteria, Academic Press, NY, 1967.
- [4] \_\_\_\_\_\_, Introduction to the Mathematical Theory of Control Processes, Vol.II, Nonlinear Processes, Academic Press, NY, 1971.
- [5] \_\_\_\_\_, Methods of Nonlinear Analysis, Vol.I, Nonlinear Processes, Academic Press, NY, 1972.
- [6] \_\_\_\_\_, Methods of Nonlinear Analysis, Vol.II, Nonlinear Processes, Academic Press, NY, 1972.
- [7] \_\_\_\_\_, Introduction to Matrix Analysis, McGraw-Hill, New York, NY, 1970 (Second Edition is a SIAM edition 1997).
- [8] A. Beutelspacher and B. Petri, Der Goldene Schnitt 2, überarbeitete und erweiterte Auflange, Elsevier GmbH, Spectrum Akademischer Verlag, Heidelberg, 1996.
- [9] J.M. Borwein and A.S. Lewis, Convex Analysis and Nonlinear Optimization Theory and Examples, Springer-Verlag, New York, 2000.
- [10] R.A. Dunlap, The Golden Ratio and Fibonacci Numbers, World Scientific Publishing Co.Pte.Ltd., 1977.
- [11] W. Fenchel, Convex Cones, Sets and Functions, Princeton Univ. Dept. of Math, NJ, 1953; H. Komiya, *Japanese translation*, Chisen Shokan, Tokyo, 2017.
- [12] S. Iwamoto, Theory of Dynamic Program, Kyushu Univ. Press, Fukuoka, 1987 (in Japanese).

- [13] \_\_\_\_\_, Mathematics for Optimization II Bellman Equation –, Chisen Shokan, Tokyo, 2013 (*in Japanese*).
- [14] S. Iwamoto, Y. Kimura and T. Fujita, Complementary versus shift dualities, J. Nonlinear Convex Anal., 17(2016), 1547–1555.
- [15] \_\_\_\_\_, On complementary duals both fixed points –, Bull. Kyushu Inst. Tech. Pure Appl. Math., 67(2020), 1–28.
- [16] \_\_\_\_\_, On complementary duals both fixed points (II), Bull. Kyushu Inst. Tech. Pure Appl. Math., 69(2022), 7–34.
- [17] S. Iwamoto and Y. Kimura, Semi-Fibonacci programming identical duality , RIMS Kokyuroku, Vol.2078, pp.114–120, 2018.
- [18] \_\_\_\_\_, Semi-Fibonacci programming from Sibonacci to silver , RIMS Kokyuroku, Vol.2126, pp.181–190, 2019.
- [19] \_\_\_\_\_, Semi-Fibonacci programming odd-variable , RIMS Kokyuroku, Vol.2158, pp.30–37, 2020.
- [20] \_\_\_\_\_, Semi-tridiagonal Programming Complementary Approach , RIMS Kokyuroku, Vol.2190, pp.180–187, 2021.
- [21] \_\_\_\_\_, Identical Duals Gap Function , RIMS Kokyuroku, Vol.2194, pp.56– 67, 2021.
- [22] \_\_\_\_\_, Triplet of Fibonacci Duals with or without constraint , RIMS Kokyuroku, Vol.2220, pp.56–66, 2022.
- [23] \_\_\_\_\_, Fibonacci Optimization and its related field duality , The 27th Symposium of Bulletin of Informatics and Cybernetics, 2022, preprint.
- [24] \_\_\_\_\_, Gibonacci Optimization duality , RIMS Kokyuroku, Vol.2242, pp.1–13, 2023.
- [25] S. Iwamoto and A. Kira, The Fibonacci complementary duality in quadratic programming, Ed. W. Takahashi and T. Tanaka, Proceedings of the 5th International Conference on Nonlinear Analysis and Convex Analysis (NACA2007 Taiwan), Yokohama Publishers, Yokohama, March 2009, pp.63–73.
- [26] A. Kira and S. Iwamoto, Golden complementary dual in quadratic optimization, Modeling Decisions for Artificial Intelligence, Eds. V. Torra and Y. Narukawa, Springer-Verlag Lecture Notes in Artificial Intelligence, Vol.5285, 2008, pp.191–202.
- [27] A. Kira, The Golden optimal path in quadratic programming, Ed. W. Takahashi and T. Tanaka, Proceedings of the International Conference on Nonlinear Analysis and Convex Analysis (NACA2007 Taiwan), Yokohama Publishers, Yokohama, March 2009, pp.95–103.

- [28] E.S. Lee, Quasilinearization and Invariant Imbedding, Academic Press, New York, 1968.
- [29] S. Nakamura, A Microcosmos of Fibonacci Numbers Fibonacci Numbers, Lucas Numbers, and Golden Section (Revised), Nippon Hyoronsha, 2008 (*in Japanese*).
- [30] R.T. Rockafeller, Conjugate Duality and Optimization, SIAM, Philadelphia, 1974.
- [31] M. Sniedovich, Dynamic Programming: foundations and principles, 2nd ed., CRC Press 2010.
- [32] H. Walser, DER GOLDENE SCHNITT, B.G. Teubner, Leibzig, 1996.